micronutrient for plants 7

(a) Iren

(bY~ Manganese.
(e) Magnesium-
{d) Chlorine

g2 Xylem in the planis are responsible for the

transport of :

.: {(a) Water
| __tb¥ Water and dissolved minerals
- (c) Gases
f (d) Food
I 3. Which one amoODg the following hormones
inhibits the growth activity in plants 7
(a) Auxins
(by Cytokinins
T e ~ Abscisic acid
(d) Gibberellins
4, Which of the following  category
biomolecules does Starch belong to ?
(a) Protein
_ds)_ Carbohydrate
(¢) Lipid
Nucleic acid

(d)

the

3 A 8

5.  Which on€ among

Which on
: OTEE : 2
e among the following iz not 2 "

Ti‘

W

following is not a

Halophyt

nne,; .‘-‘nIHHI!-{ the F"ﬂl'l‘u-'lr.lu I.I'I:—"a-t B,

() Acidic a6il = j.';5':r-:,_}::‘_'='. i
i

ik Sahne aol L

(el Black aoil

(cl} Sandy soil

Which one @ mong the ollowing

yascular

(a) Phloem

) Xylem

(c) Cambium
(& Endodermis

10.

Mitiry 9
{a) Distilled water .
(by Sea water
...'{Lc} Drinking water
(d) Methanol

gB are the U'“’”I-'I’-'.

pundlein plangs 518 noy 5

[n which OR€ among the follosiy

would the speed of sound be mag: B Sedinmg

Which organelle in animal cells can digest

foreign materials ?

(a) Endoplasmie reticulum
Ay~ Lysosome
(¢) Golgi body
(d) Mitochondria
Photosynthesis that converts light energy wio

chemical energy by the plants, involyves
the use of green Ppigments of leaves called
chlorophyll. The only structure in 2 leaf that
hosts chlorophyll is :

(a)

(b)

Nucleus
Ribosome
Jd!’f Chlnr{}p] ast

(d) Chromosome

(3-A)

feature of Xerophytes ?
e ,Iia'}""" Smaller leaves
(b) Large number of stomata
() Waxy cuticle
(d) Stomata 1 pits
RHKUFS-GKL
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3

F o .-.11r1
. : P sids o 18 . The ¢ ' = s
11, 3n which ©of the folloWing colloi the ,,-un:ﬂru:-i.mrl ig covered wiyy Hin,
] Mt s e .!!';.'I "1'.
digpersing modinm 8 Liguid * = Pl S =
: . T, "
1isl ) 1_-.;'y1.r|::;T1T fast J-wﬁl'['“?'al'ml N
S & has prtiln;":-',r:'ih?d wall Uy
'|'|-=_I_I
(b} Faam e ]_-“-[:[‘A'-‘.CT the eontrat, 3
estamination by dia g
. % s 1 1 e Parg
rent develoy o
. o * ie) prf."'- en Pitian| e
Y iy b . the Si]rf—Fll‘.e_ﬂ
(4} give gmoother and e
=AREY B
cement giructure St
12, 'The two 1Solopes of elemental chloring are ; ;
a3 16 which one among the inlknwing ot
i ;. 1 i ‘ 1 Vil
Lal 1-:.-{ Y and !-‘-C the gases memmnud below iS nos i El i
95 3 BoL T
k G and 36 () Hydrugtanhaﬁ 3 isotopsg.
L) S an ‘o ] | : ‘
17 18 (Y Helium 15 8 commonly .4
1 35@ d :”C plectric builbs. gas 4
(e 1,0 and & e
(c) Oxygen buten Sl
= < | | |
: ; engInes in spacecraft, ket

[ -('d__l f-jf‘ and ]_,G
i T

ack ”i the COMErpg,.

(d) Nitrogen can be used in gasequ A
replace air in food packaging s

13. Which one among the following metals is not {17, Match List-I with List-I1 and select tho corract
; inge the code give e ; :
stored under oil 7 answer using given below the Lists -
Lisi-I List-I7
{a) Sodium (Trade Name) (Chemical Name)
70} A, Bleaching 1. Sodium
By Rubidium powder Bierbonnte
{c). Potassium B. Bakingseda 2. Sodium carhonate,
.I 10 water
(d) Lithium C. Washingsoda 3. Caleium
oxychloride ™
D. Plaster of —— 4. Calclum suiphate,
: Paris 1
14. Potassium nitrate is not used ¢ - Water Y
(a) as afertilizer Code:
(b) in medicine R B ¢ D
k) 3 1 9 4
(¢) in making gunpowder b) 3 2 ; ]
: o)
(dy~ as a preservative of meat products - 2 1 3
= d) 4 1 ; 3

RAKU-S-GKL (5-A)
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‘eduratisn which play: o sig ARt anc
—__.___—_——'-“-"'__‘_-_'

Bdeavour gender budgeting is a critical strategy
P Q :
ral to mitigate gender inequalities and hlh"iclrm_____tf__l'iﬂiﬂ’ﬁ_ﬂﬂhﬂ'
R S
OPRS
BROP
PRO)

et and are vital items of are essential ingredients for a wholesome and
P Q
id vegetables mass consumption
F_ R S

Buse gases and extending financial support to
L EAEIRE IInancial suppore:

i decisions




) _ _—

having vequency of 300 Se i
wave

i

; e the major missions
: following &% ssions < :
\hﬁ Which of the s earch Organization in 28, A sou | 5 o o h T
DIE;LEH g ; o L koW It trave.lﬁ a distance
R‘? 2 Ghﬂﬂdrﬁ aﬂ"g : & “ravelengt. 1= ; i
]' Migsion Aditya-Ll 150 times its wavelength in time
2 Solat 4 fuel pu“rgr:ed rockets equal 0
suid 1 =
3 ]t:';’l;fal']mw“red rockets ¢. The galue of 18
- LLI1e answer using the code given below : s
gelect " (a) UOF
oy 1 and 2 oY
b L2 and 3 ®) 18
: 4 onl 3
{c) 3 a.l'ld ¥ (o) 158
@ %3 and 4
26 Which one of the following 18 the most _,/(dj' %8
: sveraft being equipped

Bppmpﬁﬂfﬂ reason for @

with conducting tyres ? 29.
{ th . .
(a) They can  transier e charge hich one among the following 7

accumulated on their surfaces during
lightning
can transfer  the charge

Mission Shakti (DRDO) of India is related to

: -}aaf Launch of multiple satellites using a

olp) They &
accumulated on their surfaces being single rocket
rubbed by air particles
(b) Launch of heavy satellites

They  can transfer the charge

(e}
d on their surfaces due to

| accumulate + :
- inflight operation of several gadgets (¢) Use of high power rockets in launching
(dy For preventing sparks while they land ofsatellites
on the ground

. (d) Use of rocket to destroy an orhiting
97. Which of the following statements for persons
suffering from presbyopia is/are correct ?
1.  They ecannot distinguish colours.
2. Itusually develops with ageing.

satellite

the Earth and

30, In Sun-Earth system, the Sut:

3. 'They wear either bi
i-focal lenses :
4 the Lagrange poi rim:
| :nmt:ng of hoth concave and convex gimnes ponkla B
23 "IIEES OF progressive lenses. ee” (a) an isoseeles triangle
e : ;
| _ ¢t the answer using the code given below :
(a)  1only (b) an equilateral triangle
¥ ; :
© "1 (¢} a straight line
A& 2andg I (d) ascalene triangle
RAKU-S-GKL
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b4l
ot ‘1‘"‘1.1_114.'.:_:1 rrrrn BRI P ety
—— o e - Sl

B s = -

anderstanding no i *

e ———— FrLy i TOTe TIRpoT e

— wamhedhos RO g o bt T T ATIEY i
. ] —

il QERP
a7 PREQ
i) SREP
dl RSP

schools wod colleyges

f ET'\jELN_EE'Inl‘IEI Education Palicy-2020 envisages and pedagogy in
] - R

P @
_1Mhﬂml approach a restructuring of existing eurricunlam
() SRQP R‘ =
by PQRS
/.{I:'n RPSQ
=) RQSP

ntral north America’s physiography is
Q

the Andes Moun fains
unkber

28. the Amazon Basin in the ce
=
in the west and dominated by
R S

(a) RESPQ
ih) SPRQ
,_JF"V QSRP
d) PQRS

29. encompassing a great many has be

P

en eclectic

Q

historically and culturally Indian society differences and contr
R S
(a)~ RQPS
) RSQP
(c) PQRS
(d) PQSR

dia and is considered the Siddha system 1s

30. systemsofIn
Q"C

Y P
to be a form of age-old experiential wisdom' one of th
= R
(a) -RPSQ
QSPR
(¢) PSQR
(d) PRSQ

RAKU-F-ENG



e _
m?ﬁ yhich ©NE of the following UN OTganizations | 40
P :ﬂ.'“ﬂ'ﬂf lisen :':wn.-ﬁ*.'-i'r"fi the Nobel Priza » =15
YHE
[ wWFFP
Yy IO
3 ) UNESCO
“._!! I.\TII‘.IHI
ﬁﬁﬁ"; '|i’|']“i:i'h of the following areas 'I'qu- }!-r.![_rT'I-
\.;nm_pll_-l'l' from the purview of the {\in-’lﬁ‘ﬂﬁhjp
Lj;ﬂ.”.“d mient ] Act, 2197
fa Ladakh
y) Jemmu and Kashmir
. The Sixth Schedule Areas
[c!
4 The Fifth Schedule Areas
i
Who among the following stated that ‘A just
% 35 cociety ;s that society in which ascending 41.
onE of reverence and descending sense of
;ﬂume"« is dissolved into the creation of a
mmpghqsinnate society’ ?
F () yinoba Bhave
() Bhimrac Ramji Ambedkar
'I (@) Rammanohar Lohia
I (d) ngaprakash Narayan
|I g9, Which of the following statements is/are
correct 7
I 1. Criminal law 18 exclusively a subject
under the State List of the Constitution
of India. *
9. Code of Civil Procedure falls under the
Concurrent List of the Constitution of 42.
India.
Select the answer using the code given below :
(a) lonly
2 only
(e) Bﬁt.h 1 an d 2
Tl
() Neither 1 nor 2
RAKUS
e (13-A)
B

_pange the L] agreaments ":'t:tu.'::-r_-.

A - I]

[ndin and Pakistan in chronological order

ns

1 r.":_:h'l"'*"-" 1]1-!'];-!‘;1!i|~r1

7 tndus Water Treaty

2
Agreement on the Prohibition o

3 AETE e ey, 1 of -"*'ET-,,N.\
Against E:ach Other's i
r 3 i e
Inst allations and Facilities "
Agresment on Reduting the p; ;

. : 8k Teng

Accidents Relating to Nucleay W,
F o LV ..1'[_";“"

Gaject the answer using the eode Given ik
Sele ; &

a) L2 4
by 23,14
(e 2,13, 4
@) 1.4,2:3

Which of the following statementy with rg

{o the Shanghai Cooperation Ol gard
ks

(SCO) is/are correct ? ation

1.  The official languages of the grp)
Russian and Chinese, %

9.  The SCO enjoys obseryer status in the
UN General Assembly,

3.  The SCO consists of 13 memper states,

Select the answer using the code given bejyy -

(a) 1only

by 1land3
() 1land2
(d) 2and3

Financial Action Task Force1s

(a) A wing under the Central Economic

Intelligence Bureal
ment Directorate

(b) A division of Enforce |
‘-‘[’ﬁ/’ A global money Jaundering and terrorist
financing watchdog
@ A UN Anti-Corruptios 8%

o




| £ the t-lrl. ,,Ii” tai i 3 Tl g 1'|I|'- AT,
f 3 ol s ollowing SHAtements 3 ol e | L
8. W ]'I].L'l . : ni: Vot |,11,_ L mil”__ﬂpf,_-_
National Recruitment Agency is correct. ? | Yedan®
(Al T body 10 conduct Common i ih anicars piaaie i
i;:li-ifﬁ"ﬂi!'." Test: (CET) to shortlist the| : \'ml.llnn
pandidates faor vacancies under '‘Group B i
and ‘Group ¢ of the Government | The 1r'||5|11-:-.-‘J]*|'|'-. i 1.1-._-:1-'..
2 H K7
(bl ]l'_f[1[!;j|,||_1r-”'|pt‘11 in private sector. 18 | o 1\.'1.5‘“""-‘.‘ v
i'.’n'ilair-:'u.(‘ci in all the districts: | . : 2l
sarticularly 117 aspirational districts. | Which of the SLALRINENLE oy
; g
(il |-| Was 22l UD 1 I"El']]hi | -n'l‘l'f"":t' .;:I Al
L4
(@) It has 'l*':t"_ﬂ accorded Constitutional li s Snly
status 10 ap21. {a
| w2 only
- Researcl Design and  Stands ds 5
49, The .!'n.l.'....L.l'i-] et i ATIC 1.r 1 e nd 2
Drganizalion iz the R&l wing of which one (:f] Le)
e following organizations ? | (@) Neither 1 nor 2
(z) Bhabha Atomic Research Centre
(i Indian Space Research Organization
(¢y Indian Railways o
: . strign -of eharkh :
(dr” Defence Research and Development | 52. The distribd 45-0n 3 wide seale
— Organization among the people was decided by .
50. Mateh 1 ist-1 with List-1I and zolect the correct (a) (longress Working Committes in 1919
; : nde given below the Lists: . b _
answer Iusmg the code given be 5 (b) All India Congress Committes in 1991
Lt List-11 ik Vo) 4
(Speaker of LO (Tenure) (c) Mahatma Gandhi at the start of Dandi
JH[IE]HTI:}..-I h
¥ 3 B M
A, Manobar Gajanan 1. 14" Lok Sabha Mar
Joshi () All India Congress Committee in 1947
B, Somnath 9. 13th Lok Sabha
Chatterjee
C. Meira Kumar ,—"ﬂ' 16 Lok Sabha . e
( : 53. The terms used for cercals in the Big Veda
D. Sumitra Mahajan 4. 15" Lok Sabha
are !
Code:
(a) Godhuma and Vrih
B C D
(a) 2 1 4 3 (b) Yava and Dhanyo
(b} 2 4 1 3 .
(¢) 3 4 1 2 i~ Tila and Khala
[d] i '

RAKU-S-GKL
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c) weak

td) serious

Psychological problems among the youth can |87.
be attributed to the | iolons | BE GFihe
Internet, = cieoWs dninen,

(a)  harmfu]

(b)  innocuous

(c)  positive

(d) tricky

verbose while

Our teacher told ys not to be
writing,

(a) exaggerate

(b) short

(¥ informal

(d)  sucecinet

the story

B4. The actor narrated
volce,
ia) soft

(b) harsh

ot} Tand 2

fd)’ '"I;ie:'ther 1 nor 2

Pristing
1. In the original condition
2. In the defiled condition
(a) 1 enly
by = only
(¢)  Both1and2
(d)  Neither 1 nop 2

‘Enormity’

. The fact of something [
grave

uote inam‘:uratel:r

one fond of quoting




el ot | Sontances are giy n[;ulm"w ibdiin o el
Pefiecs, or ) tnderlined frh;:,r:u“ ::. oh the kevwords huve been
1 A N dugree o | “Hderlined uiopd, T Mrtence fn in which the
RNy aul.w;ty cortext apg Witk ‘r'nh’ hieggy el correctly i the
ﬁ’jhuﬂ'ﬂ ! Lot “I‘r_._:- unirng the cods :”“"-
s B8, O
. UL Epite th
E:m_.h a3 Mointin ;r:-.q.g he decided to climb the
Neither 1 nor 2 2. Despite uf" y
92. ‘Deify’ determined go orr. WATNINg she was
* 1. ™ (a) 1 only "Wimn the entire distance
- 10 treat someone in high office it b} =2 only
utmost reverence te)__Both1andg
2. Worship or treat someone as a god (D S
87. 1. Thej
fﬁ.:l 1 only o fhfﬂﬂ::;‘ﬂ human rights is mmanent
‘.h} 2 ﬂn].F \2 JThE}" I _:::'“'l-llm of minst countries
: - imvited an i
(¢) Both1and?2 chief guest for the epery o P00 49 the
(d) Neither 1 nor 2 (@& 1 only
(b) 2only
. 93, "Ramnteur' {oF~ Both 1 and 2
: B :Sﬂmenne- who is capable of telling stories {d) Neither 1 nor 2
m an mteresting manner 8. _d Among those w
2. Somebody who believes in only telling job _L_found
tall tales
) fa) 1 only
(b)  2only
(¢} Both1land?2
(d) MNeither I nor2
94. ‘Emasculate’
1. Making someone strong and powerful (@
2. Increase one’s museulature
(a) T1only
{b) Zonly
{(¢) Both1land?2
{(d) Neither 1 nor 2
95. ‘Perturbation’ (f' :
1. Mental anxiety and disturbance
9, Deviation of a system or moving object
caused by an outside influence
(a) 1only
(b) Z2only
{c) Bothland2
(d) Neither 1 nor 2

AKU-F-ENG
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A, ﬁrﬁiphin ]

B. Elephunt X

C. Monkey,~ 3.

2
2
3

2

106. Match List I with List IT :

List I
(s poartl

. Fencing

Code ;
A

List IT
(Related wor

Touché
Butterfly
Chaser
Ankle hold

D




108,
e wrote the exam

oo
Bfidance, He was grossly underprepd

so he
Wi - - .
d“rm"““"t‘d for the examin ation.

© WTOlE fhe oyamm with the utmost

confidencs §;
' 6F 4 o was grossly
underprepared heneyer b .

' for ¢ arminALioT.
He wrote e he exa

confidence ne.oxam with the utmost
o NEVErthalens e was grossly
Tprepared for tha ks niation.

(g He wrot
J i £ the exam with the utmost
ence although he 'was- grossly
underprepared for the examination. s

| 109. He pledged to donate his body parts. He was
himself  the beneficiary
transplantation.
(a) He pledged to donate his body parts
m since he did though he was himself the beneficiary of
redentials of the organ transplantation.
tended to recognise \Lb')/ He pledged to donate his body paris
because he was himself the beneficiary
E ymant about refusing the PP Ao -
‘honour bestowed upon him whenever he CHE 8 PR B
did not trust the credentials of the PRI ' :
organisation that intended to recognise
his eontribution.

of  organ

107. He undertook the difficult task. He did so
albeit the fact that he did not have any spare (,
fime.

Jﬂlf’f He undertook the difficult task in spite
of the fact that he did not have any
gpare time.

(b)y He undertook the difficult task because
of the fact that he did not have any
gpare fime.

He undertook the difficult task contrary
to the fact that he did not have any
spare time. ;
He undertook the difficult , ta
nevertheless for the fact that he did no
have any spare time.
' (19 -A
L-F-ENG
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108. India’s women’s had;
: = SO
the Badminton Asin ﬁ}l?‘rL -
2924 “' : & 2am
ho among the follow:
not a part of the teqm 9 i

am ra
;:]l eently wop
; !Fli'lu}iuhﬁhip
g plaver w'a-al

(a) P.V.Sindhy
(h) Treesa Jolly
(]  Anmol Kh:-;r-b
{d} Saina MNehwal

107. Whilr:'h of the following statements
Indian medicine system is not ‘\.H- 2-ralated 4o
' s > Sarrect 7
(a) l‘i_ie Siddha system is a holigy
of medicine. 1 system
(b) Sclrwa-Higpa has been in practies ;
Himalayan regions of India Lice in the
y [nani syste =
uj'ﬂ- . ; " Lem 'D‘f mﬂdl‘:tne hﬂﬂ h e
dissociated from the Ministry of Ayy ;:.n
; : sh,
(d)

Sushruta Samhita is a maj
BJor: 8 4
Ayurveda. I N

108. Which one of the following state .
e TS £ e
India initiative ? o

(z) It is a training module recently
introduced in  LBSNAA for eivil
servants.

ihy Itisa teacher-training programme,

{(¢) It is a training programme for the new
recruits in Delhi Police: to inculcate
integrity of service among them.

)y It is A workshop for newly elected

Members of Parliament organized
routinely by the Lok Sabha Secretariat.

109. Arrange the BRICS countries in ascending

order of their rank in the Human
Development Report 2023-24. released by the
TUNDP .
1. China
2. India
3. Russia
4 Brazil
5. South Africa
Select the answer using the code given below
(a) 2. 5? 4, 1. 3
ih) 2r 4.5, 3.1
() 5,42 3,1
(d) 4,5 2.1 9
RAKU'S'GKL

110. India bas sSigned
Reir

¥ 3 - .
Partnership Agreem,. Ihr..],..
mE

) iy
which i8 a regiong R 4 Fea
il AN
"r".r‘m,_.l, F with ¥

Thtn Es
: Which g, r,,l-w""“"h“'-" of
pountries 18 not-n Member e Ehe Fay o
e YET of ¢ nwrin
(a) Bwitrerinnd i ey

couniries,

7
(k) Morway
(¢ leeland

_idy En gland

111. Which one of the following countrips
the territorial boundary with both “-';:;11;:”%
Ukraine ? =g
(a)
(b}
(el
(d}

Estonia
Latvia
Belarus )

Poland —

112. In June 2024, india signed a Memorandum of
Understanding iMoll) with TUUSA
supporting Indian Railways to achieve
Mission Net Zero Carbon Emission by the
year :

(&) _EUSEII
) 2040

(c) 2080

(d) 2000

for

113. Which one of the following statements is
correct about the PM-JANMAN scheme?

(a) It isa geheme of the Government of
Tndia to impart glectoral literacy 1o
voters.

It is a scheme of the Government of
India for deepening of demoeracy in the
functioning Panchayati  Rai
institutions.

[t is a scheme of the Government. of
India for benefitting every member of
the tribal community rom Government
schermes.

It is a scheme 5
India for benefitting ™

(b}

of

(d)

in the unurganiwed gettar:

(37-A)
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€ following Hems, a sentence is
more underlined words. From the
i ded mark the correct answer from
,J, Bl or (e), whie t& the maost apprapriale
revement over the word(s) to be substituted If no

'im.nrf:wemenr can be identifiod, mark your response
as (dl,

111. Similar mishaps gy o
the new highway
signalling,

(a)

ontinually happening on
because of improper

manifesting

Directions : In the following items, you are required
to select the most apprapriate. veice of .t_,fze g;gen.
Phrase and mark Your résponse from the opttons that
Folfou,

116. ':3hungr-_- from Active to Passive voive -

“Spect your eldars
‘@) Yoo should respect slders
(b Elders are respectod
(e} Respect the eldars
dd  Blders should be respecteod
117. Change from Active to Pagsjve vaice :
Shut the door
(@) The door i5 to be shut
Let the door be shut
The door be shyt
No change

from Passive to Active voice -
Was advised by her mother tgy CArTy an
hile stepping out ingg the rain
other adviged Sujata to carry an
whila stepping ‘out into the

vised her mother to CHETY an
rhile stepping out into the




114. Which o the folloy:
ltlg

correct: ?

(@)  SAGARseTY |,

& mohile

e PR whis
1|1'|p|‘ﬂ1|?1:" t]'".:_- Ea-{n.'. 5
i Se of Doing
) Harit § J
(b Harit Sagar aimg gy achiay;
- ey VINg P
Carbon Emission Goal =
fe)  Sagar Manthan is 5 Mission laype d
g thed by
Ministry  of Port, Shipping :
- and
Waterways, Government of Ing;
- 4, to
mnerease fish production -
(d} Costa Serena

15 the first iut.el'natil‘rnaj
eruige liner in India —

115. ISRO, in its studies, has revealsq that there is
a 178% increase in the size of the Ghepang
Ghat Glacial Lake. In which of the following
States/UTs is this lake located ?

(a) Jammu & Kashmir
(b) Ladakh

e} Himachal Pradesh
(d) Uttarakhand

116. Which of the following State/s is/are common
Y Bru-Reang Agreement, NLFT (SD)
fgreement and Tripartite Agreement with

TIPRA 2

{a) Tripura

B  Assam and Tripura

e} n Pura and Mizoram

(d) Manipyy and Mizoram
RAKU-S gxp
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1 s
17, Which of the followin

Acadamy Award
tategory 7

B movies swan the

2024 in ¥ha Best I-‘ic:_ur.'e

lg8)  Anatomy of-a Fall
BT Oppenheimer
te)  Barbie
() Killera of the Flower Moan
118. India’s first dedicated OPD for ih
Transgenders was opened at which ane among
the following hospitals ?
(a)  AIIMS, New Delhi
(b} PGIMER, Chandigarh
(e} KGMU, Lucknow
(d} RML Hospital, New Delhi
119. Which one of the following statements abaut
INS Tarmugli”is rot correct 7
ta) It is a fast attack craft commissioned by
the Indian Navy.

(b) It was commissioned at Naval Dockyard,
Visakhapatnam,

te) It wasg given by the Government of India
to Bri Lankan Naval Force in 20086
and returned to the Indian Navy in
May 20235,

(d) It is supposed to be used for coastal
surveillance.

120. Which one of the following resolutions in the
final agreement reached at COP2§ is
associated with the target of achieving Net
Fero by 20507 7
{a) Fossil fuel phase-out
{b) Methane emission cuts
(e}  Global goal on adaptation

J@” Climate resilience

Al




